WELLAND GOULDSMITH SCHOOL PATULI
CLASS: 1
SUBJECT: MATHEMATICS

ANSWER KEY

1.FILL IN THE MISSING NUMBERS.
A3+2=75
B.6-4=2
C.5+ 2=7
D.6+0=6

E.5-5=0

2. PUT THE CORRECT SIGN (+ - or =)
A5+2=7
B.6+0=6
C9-5=4
D.4+5=9

E.7-4=3

3. MATCH THE COLUMNS

A.6+2 = 3(C)
B.9-7= 8 (A)
C.10-7= 2 (B)
D.15+5= 12(E)
E.12-0= 20(D)

ADDITION



A.HTO B HTO C HTO D HTO
634 756 495 857
+203 + 213 +302 +142
837 969 797 9 99
SUBTRACTION
A. HTO B. HTO C HTO D HTO
75 4 65 8 975 589
-503 -45 6 -854 -445
251 202 121 144



